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题 号

Part I (C)

Part II (A)

Part V

总 分

总 分 人

得 分

Part I     Listening

Section C  Spot Dictation   ( 5 points)    

得分             阅卷员                  
S1) _________________________________
S2) _________________________________
S3) _________________________________

S4) _________________________________
S5) _________________________________
Part II    Reading

Section A  ( 10 points) 

得分             阅卷员                  
(仅填相应字母)
R1.

R2.

R3.

R4.

R5.

R6.

R7.

R8.

R9.

R10.

Part V    Writing  (15 points)  

得分             阅卷员                  
Outlines:

1. 近几年大学校园出现了西方节日热
2. 阐明产生该现象的原因
3. 本人对外来文化的态度

What Causes a Boom in Celebrating Foreign Festivals?
2007—2008学年第2学期  《大学英语B（4）》期末考试

试 题 卷

Part I  Listening Comprehension   （25%）
Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer.
1. A) To continue master's program.          







B) Do more studies to pass some exams. 

C) To become a doctor immediately.



   





D) To become a teacher.

2. A) Medicine.     





B) Chemistry.       



C) Writing.         



D) Music.

3. A) Have dinner in another restaurant.     
B) Break up with his girlfriend. 

C) Change his clothes.            
D) Buy some flowers.

4. A) In a post office.  




B) At the airport.   



C) In Austria.        



D) In America.

5. A) Teacher and student.               
B) Customer and clerk. 



C) Father and daughter.
            D) Boss and secretary.

6. A) He plans to buy a new house this year.








B) He doesn't have enough money to buy a new house.


C) He doesn't need a new house.










D) He plans to buy a new house next year.

7. A) Prof. Smith is strict with students.









B) Prof. Smith takes everything seriously.


C) Prof. Smith is not good at getting along will, students.





D) Prof. Smith is not talented.

8. A) Clean the shirts.













B) Wake her up tomorrow morning.



C) Show her the way to the dressing booth.








D) Take her to dinner tonight. 
Questions 9 to 12 are based on the conversation you have just heard.

9. A) Talent.       





B) Opportunity.        


C) Discipline.         


D) Audience.

10. A) Because he is a famous musician.      








B) Because he has talent for music. 

C) Because his work is about art.      








D) Because he works for his own interest.

11. A) He can not define his own style; he just naturally plays the way he plays.



B) A musician has to have the feel of what he wants the instrument to sound like.


C) Few students understand the importance of dedication and commitment.


D) It's a great reward for him to see the progress his students have made. 
Questions 13 to 15 are based on the conversation you have just heard.

12. A) He wants to rent the woman's apartment.








B) He wants to invite the woman to his apartment.


C) He wants to help the woman clean the apartment.






D) He wants to visit the woman's apartment.

13. A) The apartment has two bed-rooms, a kitchen and a living room.



B) It is ten-minute walk away from the apartment to a shopping center.


C) The apartment has got wall-to-wall carpeting and a balcony.




D) There is an elevator in the apartment building.

14. A) Around four.                    
B) Around four thirty.       

C) Around five.                
D)Around five thirty  
Section B

Directions: In this section, you will hear 2 short passages. At the end of each passage, you will hear some questions. Both the passage and the question will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A ) , B ) , C) and D ) .
Passage One

15. A) Industry increase.                   B) Transportation increase.  


C) Population increase.
            D) Agriculture increase.

16. A) More than ten percent of people in Europe.







B) More than twenty percent of people in Europe.


C) More than thirty percent of people in Europe.







D) More than forty percent of people in Europe.

17. A) Industrial workers' experience in a loud noise.







B) The possible health effects of noise levels in different situations.


C) Safe workspaces protecting workers from noise.






D) Coverings protecting workers' ears. 
Passage Two
18. A) The Traditional Food Style in the U.S.








B) Changing Food Styles in the U.S.


C) Varieties of American Foods.










D) The Popularity of Ethnic Foods in the U.S.

19. A) It's fresh and natural.












B) It lasts longer and tastes better than other foods.


C) It has more protein.












D) It's food made from vegetables,

20. A) The food they serve tastes good.









B) The food they serve is essential to a person's diet.


C) They serve Americans " favorite food -- the hamburger.





D) They save customers a lot of waiting time.       
Section C  Spot Dictation
Directions: Fill in the blanks with the missing words you’ve heard from the passage.
One of the features in large modem cities is the number of big department stores, most of which are to be found S1) ___________________. They're high buildings of many stories, where you can buy almost anything you need, from a box of chocolates to a set of furniture. Most of them are very modem and S2)________________________ convenient elevators and escalators, and have well-planned lighting, air-conditioning and ventilation. You can S3)_______________________ in one of these department stores, and you will probably lose your way while you are doing so, in spite of the many signs pointing the way to the elevators and exits.

If you have been in one of these stores so long that you feel hungry, you and your family will not need to leave the building, for nearly all the big stores have cafes, snack bars or restaurants in them. After a meal, you can S4) ___________________ the goods that are on sale, and you will not be forced to buy anything, though occasionally an assistant may ask you whether he or she can be of help to you.

Another feature of the shopping life is the chain-store, in which prices are lower than in the big store, and S5) ___________________ are offered -- chiefly foodstuffs, household goods, clothing and stationery. The goods are displayed on open shelves and counters. A lot of food stores now operate on the "serve yourself system": you go in, pick up a basket or a cart, walk around the shop and choose what you need. At the exit there are a number of counters where you pay for you’re your purchases together.

Part II

Reading Comprehension 
（40%）
Section A

Directions: In this part, there is a short passage with ten blanks. Read the passage carefully. Then choose an appropriate word from the word list to fill in the blank. Remember to write your answers on the Answer Sheet.

Sarah’s ability to solve her dilemma by rooming with her identical twin is unusual, but the conflict she faced is not. Despite extensive efforts by many schools to make good roommate   R1  , unsatisfactory outcomes are common. One roommate is always cold, while the other never wants to turn up the furnace,   R2   the thermometer says it’s minus five outside. One person likes quiet, while the other person spends two hours a day   R3   the trumpet, or turns up his sound system to the point where the whole room vibrates. One eats only organically produced vegetables and   R4   all living things are holy, even ants and mosquitoes, while the other likes wearing fur and enjoys cutting up frogs in biology class.
When personalities don’t mix, the excitement of being away at college can quickly   R5  . Moreover, roommates can affect each other’s psychological health. A recent study reports that   R6   in college roommates is often passed from one person to another.

Learning to tolerate a stranger’s habits may teach undergraduates flexibility and the art of compromise, but the   R7   is often painful. Julie Noel recalls that she and her freshman year roommate didn’t communicate and were U   R8   throughout the year. “I kept playing the same disk in my CD player for a whole day once just to test her because she was so   R9  ,” says Noel. “It took her until dinner time to finally change it.” Although they didn’t saw the room in half, near year’s end, the two did end up in a screaming   R10  . “Looking back, I wish I had talked to her more about how I was feeling,” says Noel.

(特别提示：请将以下选项的英文代码填在答题卷上。)
A. believes
B. criticizes
C. matches
D. fight
E. depression
F. progress
G. timid
H. grow stale
I. obedient  
J. practicing
K. impression
L. uncomfortable
M. watches
N. process
O. even though
Section B 
Directions: There are 3 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C) and D) You should decide on the best choice and mark the corresponding letter on the Answers Sheet with a single line through the centre.
Passage One


Some pessimistic experts feel that the automobile is bound to fall into disuse. They see a day in the not-too-distant future when all autos will be abandoned and allowed to rust. Other authorities, however, think the auto is here to stay. They hold that the car will remain a leading means of urban travel in the foreseeable future. 

The motorcar will undoubtedly change significantly over the next 30 years. It should become smaller, safer, and more economical, and should not be powered by the gasoline engine. The car of the future should be far more pollution-free than present types. 

Regardless of its power source, the auto in the future will still be the main problem in urban traffic congestion (拥挤). One proposed solution to this problem is the automated highway system. 

When the auto enters the highway system, a retractable (可伸缩的) arm will drop from the auto and make contact with a rail, which is similar to those powering subway trains electrically. Once attached to the rail, the car will become electrically powered from the system, and control of the vehicle will pass to a central computer. The computer will then monitor all of the car's movements. 

The driver will use a telephone to dial instructions about his destination into the system. The computer will calculate the best route, and reserve space for the car all the way to the correct exit from the highway. The driver will then be free to relax and wait for the buzzer (蜂鸣器) that will warn him of his coming exit. It is estimated that an automated highway will be able to handle 10,000 vehicles per hour, compared with the 1,500 to 2,000 vehicles that can be carried by a present-day highway. 
21. One significant improvement in the future car will probably be________. 

    A) its power source     B) its driving system        C) its monitoring system           D) its seating capacity 

22. What is the author's main concern?

    A) How to render automobiles pollution-free.        C) How to solve the problem of traffic jams.

    B) How to make smaller and safer automobiles.      D) How to develop an automated subway system. 

23. What provides autos with electric power in an automated highway system?

    A) A rail.             B) An engine.             C) A retractable arm.                 D) A computer controller. 

24. In an automated highway system, all the driver needs to do is _______. 

    A) keep in the right lane                         C) keep in constant touch with the computer center

    B) wait to arrive at his destination                 D) inform the system of his destination by phone  

25. What is the author's attitude toward the future of autos?

    A) Enthusiastic.         B) Pessimistic.          C) Optimistic.                       D) Cautious. 

Passage Two

Attention to detail is something everyone can and should do -- especially in a tight job market. Bob Crossley, a human-resources expert notices this in the job applications that come cross his desk every day. "It's amazing how many candidates eliminate themselves," he says.

"Résumés (简历) arrive with stains. Some candidates don't bother to spell the company's name correctly. Once I see a mistake, I eliminate the candidate," Cross1ey concludes- "If they cannot take care of these details, why should we trust them with a job?"

Can we pay too much attention to details? Absolutely, perfectionists struggle over little things at the cost of something larger they work toward. "To keep from losing the forest for the trees," says Charles Garfield, associate professor at the University of California, San Francisco,” we must constantly ask ourselves how the details we're working on fit into the larger picture. If they don't, we shou1d drop them and move to something else."

GarfieId compares this process to his work as a computer scientist at NASA. "The Apollo II moon launch was slightly off course 90 percent of the time," says Garfield. "But a successful 1anding was still likely because we knew the exact coordinates of our goa1. This al1owed us to make adjustments as necessary." Knowing where we want to go helps us judge the importance of every task we undertake.

Too often we believe what accounts for others' success is some special secret or a lucky break (机遇). But rarely is success so mysterious. Again and again, we see that by doing little things within our grasp well, large rewards follow.

26. According to the passage, some job applicants were rejected ________.

A) because of their carelessness in their failure to present a c1ean copy of a resume

B) because of their inadequate education in their poor spelling in writing a resume

C) because they eliminated their names from the applicants list themselves
D) because they failed to give a detailed description of their background in their applications
27. The word "perfectionists" (Line 1, para. 3) refers to those who ________.

A) demand others to get everything absolutely right

B) know how to adjust their goals according to the circumstances

C) pay too much attention to details only to lose their major objectives

D) are capable of achieving perfect results in whatever they do

28. Which of the following is the author's advice to the reader?
A) Careless applicants are not to be trusted.
B) Don't forget details when drawing pictures.

C) Be aware of the importance of a task before undertaking it.

D) Though much attention to details may be costly, they should not be overlooked.
29. The example of the Apol1o II moon launch is given to illustrate that ________.

A) failure is nothing but the mother of success
B) minor mistakes can be ignored in achieving major objectives
C) adjustments are the key to the successful completion of any work

D) keeping one's goa1 in mind he1ps in deciding which details can be over1ooked

30. The best title for this passage would be ___________.

A) Don't Be a Perfectionist 
C) Details and Major Objectives
B) Importance of Adjustments 
D) Hard Work P1us Good Luck
Passage Three


Crying is hardly an activity encouraged by society. Tears, be they of sorrow, anger, on joy, typically make Americans feel uncomfortable and embarrassed. The shedder of tears is likely to apologize, even when a devastating (毁灭性的) tragedy was the provocation. The observer of tears is likely to do everything possible to put an end to the emotional outpouring. But judging from recent studies of crying behavior, links between illness and crying and the chemical composition of tears, both those responses to tears are often inappropriate and may even be counterproductive.

Humana are the only animals definitely known to shed emotional tears. Since evolution has given rise to few, if any, purposeless physiological responses, it is logical to assume that crying has one or more functions that enhance survival. 

Although some observers have suggested that crying is a way to elicit assistance from others (as a crying baby might from its mother), the shedding of tears is hardly necessary to get help. Vocal cries would have been quire enough, more likely than tears to gain attention, So, it appears, there must be something special about tears themselves. 

Indeed, the new studies suggest that emotional tears may play a direct role in alleviating stress, University of Minnesota researchers who are studying the chemical composition of tears have recently isolated two important chemicals from emotional tears, Both chemicals are found only in tears that are shed in response to emotion. Tears shed because of exposure to a cut onion would contain no such substance. 

Researchers at several other institutions are investigating the usefulness of tears as a means of diagnosing human ills and monitoring drugs.

At Tulane University's Feat Analysis Laboratory Dr Peter Kastl and his colleagues report that they can use tears to detect drug abuse and exposure to medication (药物), to determine whether a contact lens fits properly of why it may be uncomfortable, to study the causes of "dry eye" syndrome and the effects of eye surgery,, and perhaps even to measure exposure to environmental pollutants.

At Columbia University Dr. Liasy Faris and colleagues are studying tears for clues to the diagnosis of diseases away from the eyes. Tears can be obtained painlessly without invading the body and only tiny amounts are needed to perform highly refined analyses.
31. It is known from the first paragraph that __________.

A) shedding tears gives unpleasant feelings to American 




C) crying usually wins sympathy from other people


B) crying may often imitate people or even result in tragedy 



D) one who sheds tears in public will be blamed
32. What does "both those responses to tears" (Line 4, Para. 1) refer to?


A) Crying out of sorrow and shedding tears for happiness. 

B) The embarrassment and unpleasant sensation of the observers.


C) The tear shedder's apology and the observer's effort to stop the crying. 



D) Linking illness with crying and finding the chemical composition of tears.
33. "Counterproductive" (Line 4, Para. 1) very probably means “__________”.


A). having no effect at all             B). leading to tension          
C). producing disastrous impact 


D). harmful to health
34. What does the author say about crying?


A) It is a pointless physiological response to the environment. 



C) It is meant to get attention and assistance.


B) It must have a role to play in man's survival.






D) It usually produces the desired effect.
35. What can be inferred from the new studies of tears? 







A) Emotional tears have the function of reducing stress. 




C) Emotional tears can give rise to "dry eye" syndrome in some cases.


B) Exposure to excessive medication may increase emotional tears.


D) Environmental pollutants can induce the shedding of emotional tears.
Part Ⅲ                  Vocabulary & Structure      （10%）
Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B) C) and D). Choose the ONE that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the center.

36. The father scolded the child, but his heart __________ with joy because his daughter was safe.


A) is melting
B) was melting
C) has been melting
D) will be melting

37. There can be no doubt that the tradition of Korea _________ her artists a different attitude towards art problems.


A) impresses on
B) influences on
C) effects on
D) imposes on

38. It’s strange that some people can eat what they like and get ___________.


A) not fat
B) not fatter
C) no fatter
D) no fat

39. The teachers proposed that the book __________ at the adolescent problem seminar.


A) would be banned
B) is banned
C) be banned
D) will be banned

40. As everyone knows, what they __________ at present is to win the contract.


A) are counting on
B) are accounting for
C) are counting in
D) are accounting of

41. Careful maintenance can __________ the life your car by several years.


A) extent
B) extend
C) expend
D) export
42. It has been estimated that around one in five pensioners ___________ to these benefits do not claim actually them.


A) entitle
B) entitling
C) have entitled
D) entitled

43. Mobile phones have become the rage among businessmen, who can __________ despite the traffic jams.


A) remain to relation
B) remain with touch
C) remain in contact
D) remain of links

44. Modern communications will give countries like China a huge advantage __________ countries stuck with old technology.


A) than
B) to
C) over
D) for

45. There is nothing attractive here; we __________ go home, drinking a cup of hot tea.


A) as may well
B) may as well
C) well as may
D) may well as

46. Bill couldn’t ______ an answer when the teacher asked him why he was late.

A) come up with 
B) come on 
C) come over 
D) com up to

47. Nearly all major cities in the United States are crime - ridden. New York is __________.


A) in the case of 
B) a case to point
C) the case
D) a case in point 

48. A violent crime was _________ every 32 seconds in this area of the city last year.

A) found
B) made  
C) committed
D) sentenced

49. His discovery _________ nothing though he had tried very hard.


A) counts on
B) amounts to  
C) sticks to  
D) gives up

50. Mark knows a lot about computer science, but when it __________ history he knows he' d shut up.


A) matters
B) matter 
C) come to  
D) comes to

51. It was said that he would be ____________ his former position with the company.


A) resumed 
B) consumed 
C) presumed 
D) assumed  

52. Nothing Helen Says is ever__________. She always thinks carefully before she speaks.


A) spontaneous 
B) simultaneous
C) homogenous
D) rigorous

53. The _________ of the word is unknown, but it is certainly not from Greek.


A) descent
B) origin
C) generation 
D) cause


54. Old Chinese are not used to buy things on ________ and are likely to save as much money as possible.


A) deposit
B) debt
C) credit
D) sale

55. The Timber rattlesnake is now on the endangered species list, and is extinct in two eastern states in which it once ________.

A) divided
B) swelled
C) scattered
D) thrived

Part Ⅳ  
Cloze    （10%）
Directions: There are 20 banks in the following passage. For each blank there are four choices marked A),B), C) and D) below the passage. You should choose the ONE that best fits into the passage. Then mark the corresponding letter on the Answer Sheet 
with a single line through the center.

Disney has found itself facing a number of   56    cultural issues when opening its Euro Disney theme park   57   in France. France has a great   58   of cultural invasion   59   abroad and has already   60   measures to prevent its own   61   from taking   62   English words. It also believes in strongly   63   individual liberty. Already Disney has been taken to   64   because of its company’s dress and appearance   65  , which, it is   66  , disregards employee’s personal liberties and   67   French labor law. The company’s   68   is that a job is more important to an employee than personal   69  . Disney   70   it’s workers as actors who should   71   rules on how they should   72  . The underlying attitude   73   to the banning of moustaches and beards by Disney is perhaps   74   in the decision to locate a “Harmony Barber Shop” right in the   75   of Euro Disneyland.

56. A. define
B. delicate
C. delicious
D. deliberate
57. A. located
B. locked
C. lodged
D. loaned

58. A. energy
B. fear
C. enthusiasm
D. frustration

59. A. into
B. through
C. of
D. from

60. A. taken
B. made
C. given
D. invented

61. A. company
B. park
C. language
D. history

62. A. down
B. over
C. up
D. off

63. A. defeating
B. defining
C. defying
D. defending

64. A. corporation
B. corner
C. court
D. country

65. A. code 
B. cover
C. cord
D. core

66. A. demanded
B. requested
C. required
D. claimed

67. A. follow
B. breaks
C. obeys
D. takes

68. A. attraction
B. culture
C. appeal
D. attitude

69. A. appearance
B. opinion
C. property
D. attack


70. A. views
B. watches
C. looks
D. gazes

71. A. obtain
B. obey
C. oblige
D. object

72. A. see
B. appear
C. look
D. disappear

73. A. opposing
B. leading
C. obeying
D. objecting

74. A. reacted
B. recovered
C. recorded
D. reflected

75. A. mist
B. center
C. middle
D. core
Part V  Writing    (15%)

Directions: For this part, you are allowed 30 minutes to write a composition based on the title What Causes a Boom in Celebrating Foreign Festivals? You should write at Least 120 words following the outline given below:
Outlines:

1. 近几年大学校园出现了西方节日热
2. 阐明产生该现象的原因
3. 本人对外来文化的态度
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